36. Aorist Participles

Lesson in a Nutshell

Aorist participles are based on the de-augmented aorist tense stem.

- Active voice will contain vt or caoa. They follow the 3-1-3 pattern.
- Middle voice will contain pev. They follow the 2-1-2 pattern.
- Passive voice will contain 6. They follow the 3-1-3 pattern.

Aorist participles convey undefined aspect.

In this chapter, we will learn how to recognize and translate aorist participles. Let’s
begin with recognition.

How To Parse an Aorist Participle

Aorist Participles

active middle passive
VT, 0000, VT UEVO, UEVT], HEVO Oevt, O10a, Osvt
3-1-3 2-1-2 3-1-3
M (3) F(1) N (@3) M(2) F(1) N (2) M (3) F(1) N (3)
Aoac | Moaoco | ADoav  Jrvodpevoc | Avoopévn [Avoopivov ] AvBeic | AvBeico | AvBev

Aoavtoc| Avodonc [Aveavroc | Musapévou [ Avsapévng |Muoapévou | AvBEvToC [ AvBeiong | AvBEvToc
Moavtt | Aodon | Moovtt | Woapéve | Avoapévy | Avoopéve | AuBevrt | AvBeion | AvBevtt

Aoavto | Avoacoy [ Adoav | Avodpevoy [ Avoapévny | Avsdpevov | AvBévto |AvBeicay | AvBev

Moavec | Moaoon | AMoavto | Avodpevor [ Avsdpevor | Avodpeva | AvBevTec [ MvBEicon | AvBEvTal

Avoaonv fuoavtwviivcauévoy [ Avocopevev [Avoaptvov fAvOevTOV [AVBEVTOV [AVOBEVTWLOV

Moaooic| Aoaoty frvcopévos|voapévars [Moapivoc | AvBeioty [AvBeioaiic| AvBeioLy
Avoaoac | AMvoavto usepévouc| Awoapévoc | Aodpeve fAVBEVTOC [ AvBEiCOC | AvBEVTO

Second Aorist Participles

active middle passive
VT, 0V0A, VT UEVO, UEVT], LEVO EVT, €100, EVT
3-1-3 2-1-2 3-1-3
M@ | F(1) | N@3 M@ F) N (@) M @) F() N@)
Borwv |Borodoo | Bodov [ Bokopevog | Bodopevn |Baddpevov fl ypadelc | ypaeico | ypadev
Bokovroc |Bokovenc |Bakovroc | Baropévou | Bakopévng | Bokopévou Bypodevtog | ypaupeionc | ypodevtog
BaAovrt | Barovon | Bakovrt [ Bokopéve | Boguévn | Bakopéve W ypagévtt | ypadeion | ypagevet
Boovto [Bokovoov| Bokov [ Borouevoy | Bakopevny | Baopevov fypadevio [ypadeicov| ypadev
Bohovrec [Badovoo | Badovto. Jf Bodopevor [ Bokopevor | Badopevo, Bypodévies | ypadeioor | ypadevio
Bodoviwv [Bokovsm v [Badovin v fBoropévay | Bodopévov | Baropevay lypadéviwv [ ypodeicdv | ypadévimv
Balovotv |Barovsoic [Badovoty fBoopevoic|Badopevaic|Batopevoic Bypadeioty [ypadeiconc| ypadeioty
Bohovroc [Bokovooc| Boadovo, JBodopévouc| Bokopévoac | Boddpeve: Bypavévroc|ypoeicoc [ ypoudéveo
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Once again, the sheer number of forms may cause an allergic reaction! Hopefully by
now you’re seeing that there are only a few patterns behind all these forms.

@ Remember: We are just trying to discover the tense and voice, case,
% f‘;‘ number and gender.
o d
'C““ % Before going on, look at the Aorist Participle table. How many
1:# g patterns can you already recognize?
i.\\v\.h ‘T&v’ﬁ
Tense

Aorist tense is recognized in the ways we have already learned.

= oo (active and middle) and O<? (passive) are the big giveaways for first aorists.

= The stem change is the giveaway for second aorists.

Voice

We recognize the voice from the participle morpheme. Most of these forms are similar to
forms we already know.

= Active: vt or cooa (ovoa in the second aorist).
= Middle: pev.

= Passive: O¢ (just € in the second aorist passive).

Case, Number, Gender

Aorist active participles follow the 3-1-3 pattern of declension.
Aorist middle participles follow the 2-1-2 pattern of declension.

Aorist passive participles follow the 3-1-3 pattern of declension.

1 In the participle it is O¢, rather than 01, as we have come to expect everywhere else.
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At the risk of being too repetitive, here is a comparison with (which follows the 3-1-3

pattern), and the article (which follows the 2-1-2 pattern).

Comparison of the aorist active participle with

(after) loosing vt, cooo
M (3) F (1) N (3) 24 formg of mog (3—!—3)
- - — 3 masc \ I fem 3 neut
Avooc | Avooaoco | Avoov
Moavtoc| Avodong [Avoovtog
AOoavTL Avoao) AVoavTL TOVTL | oo | movTt
Aoavto | AMoacoy | Avoav
Moavtec [ Moaoot | AMcavio TOVTEC | Moo | movtoL
\voaviov| Avsacwv fucovimy n(xvm)v\’ TOCWV | TOVIWV
Mooty [Aedooic | Aoaoty TUOLY | TGOS | TOOL
AVoavToC| Aodoac | AVoavTol MOVTOG | MOCOG | ToLvToL

Comparison of the aorist middle participle with the article

ddle
OUHEVO, 00 OUHEVO The Article

M@) F() N (2)

M (2) F (1) N (2) Nominative “the” 0 n 70

Avoapevoc | Avoopevn |Avoopevav % Genitive of the TOP ‘I:Tlg 1:0})

- - - £ | Dative “to the” 0 ™m T

AVGOPEVOL | AUCOUEVTIC | A\VCOPEVOD (2} —+ = c

- - - Accusative the TOoV mv 70
Avoopeve | Avoapevn | Avoopeve

Avoapevov | Aoopevny [ Aveapevov Nominative “the” ot ol 10

Avoapevol | Avoapeval | Avoopevo. | Genitive  “of the” TOV TQV TOV

= . « » ~ ~ =

Moopévov | Avoapevoy [ Avoopévav o | Dative to the TOG | Toug | 7Ol

AVGOPEVOLC [ AVoapEVOLS AVCOIEVOLS Accusative ‘the T0¢ T0Q 1o
Nuoopevouc| Avcopevac | Avoapevo.

Comparison of the aorist passive participle with

(after) being loosed Bevt, Beica

M (3)

FQ)

N (3)

AVOELC

AvBeLloO

AVOEV

AVOEVTOC

AvBetong

AMVOEVTOC

AVOEVTL

AvBeion

AVLOEVTL

AvOEVTOL

AvOeicOLY

AVOEY

AVOEVTEC

AvBgioon

AVOEVTOL

AvBeVTOV

AVOEVTOV

AVOEVTOV

AvOELoLY

AMBeLo0ILG

AvO€LoLY

AVOEVTOC

AvBetooc

AVOEVTOL

24 forms of nog (3-1-3)
3 masc \ I fem 3 neut
N TOLG \ OO0 oLV
G | ToLvTOg \ TOLONG

D | movtt \ TOLOM TOLVTL
A | movto ‘ TOLOOLV

N | TOoLVTES \ TOCOL | TOLVTOL
G navrwv\ TOCWV | TOVIOV
D | moouw \ OO0 | OO L]

A n(wi.;\ TOLOOLG
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Let’s Practice

Here are a few examples to demonstrate.

TIOTEVOAVTEQ

(believing)

Let’s break it into pieces to examine.
TILIOTEL OU VT £C
= oo tells me this must be an aorist participle.
= VT tells me this is an active participle.
= ¢c is the nominative plural, masculine case ending in the third declension.

So to parse miotevoavteG we simply describe it as an aorist, active participle,
nominative, plural, masculine.

Here’s another:

TOTEVCAUEVAL

(believing for self)

breaking it into pieces...

TIOTEL 0A UEV Ol

= ox tells me this must be an aorist participle.
= uev tells me this is a middle participle.
= (1is the nominative plural, feminine case ending in the second declension.

So to parse mioTeVOAUEVHL we simply describe it as an aorist, middle participle,
nominative, plural, feminine.
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Here’s another.

TMOTEVOEVTOC

(being believed)

breaking it into pieces...

TOTEL O€ VT 0¢

= O¢ tells me this must be an aorist passive participle.

= 0¢ is the genitive singular, masculine or neuter case ending in the third
declension.

So to parse miotevO£VTOC we simply describe it as an aorist, passive participle,
genitive, singular, masculine or neuter.

One more.
b} 7/
EITTIWV
(saying)

Let’s break it into pieces.

1T WV

= The stem changed from A€y to €im. It is a second aorist.

= |t uses the odd wv ending which is the active, nominative, singular, masculine
form.

So to parse inwv we simply describe it as a second aorist, active participle,

nominative, singular, masculine.

That is how you parse an aorist participle.

Now let’s look at some aorist participles in sentences. Remember that the only
difference in meaning will be that of aspect.

Mt. Koivn 203



How To Use The Aorist Participle

Adjectival Participle

gl 0 avnp 0 AaAnoag mpo¢ TNV yuvaika.

* speaking with the woman,

You are the man

AaAnoog is an aorist, active participle, nominative, singular, masculine (from AaA£w).

* AaAnoog is adjectival. It modifies 0 avrp.

% The case, number and gender of the participle match the case, number and
gender of the noun being modified (0 avrp).

% The underlined words are the participial phrase.

* IMPORTANT: The adjectival participle almost always has the article.

Substantival Participle

0 motevoag Kal Pamntiobelc cwdnoetarl,
The believing and baptized will be saved.

=The (one who) believes and is baptized will be saved.

mioteLoaC is an aorist, active participle, nominative, singular, masculine.
ﬁantw@s‘lq is an aorist, passive participle, nominative, singular, masculine.

* miotevoog and PanticOelC are substantival. They are the subject of the verb.
* The case, number and gender match the implied subject. (The man2 who
believes and is baptized.)

* The smoothed out version adds the implied subject. This is a legitimate
translation.

* IMPORTANT: The substantival participle almost always has the article.

1 From 0w {(w. Notice the future passive clue (010).

2 Often, the masculine form is gender inclusive, much in the same way as in older English “mankind”
referred to all humanity, not just males.
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Adverbial Participle

eABOVTEC €1¢ TNV oikiav €idov TO matdiov.

coming into  the house, theysaw the child.

eABOvTeC is a (second) aorist, active participle, nominative, plural, masculine (from
gpyouat).

* £\06VTeC is adverbial. It tells us more about £150v.

% The case, number and gender match “they” in “they saw.”
% The underlined words are the participial phrase.

* IMPORTANT: The adverbial participle never has the article.

Now try your hand at translating the sentences in the workbook. Again, do not become
discouraged if you find these difficult. You will get the hang of it!
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